ENER

RIS IR C AR

20226818  (JK)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
X it 1t bt iR

- Y| )
H% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 11 1 0 0
3 6 11 0 0 0
4 6 12 0 0 0
5 6 13 0 0 0
6 6 12 0 0 0
7 6 14 0 0 0
8 6 11 0 0 0
9 6 13 0 0 0
10 6 13 0 0 0
11 6 13 0 0 0
12 6 13 0 0 0
13 6 13 0 0 0
14 6 14 0 0 0
15 6 14 1 0 0
16 6 14 1 0 0
17 6 14 0 0 0
18 6 13 0 0 1
19 6 13 0 0 0
20 6 14 0 0 0
21 6 12 0 0 0
22 6 12 0 0 0
23 6 13 0 0 0
24 6 12 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 11 0 0 0
2 6 12 0 0 0
3 6 14 0 0 0
4 6 13 0 0 0
5 6 13 0 0 0
6 6 14 0 0 0
7 6 13 0 0 0
8 6 10 0 0 0
9 6 12 0 0 0
10 6 13 0 0 0
11 6 13 0 0 0
12 6 14 0 0 0
13 6 13 0 0 0
14 6 14 0 0 0
15 6 14 0 0 0
16 6 14 0 0 0
17 6 11 0 0 0
18 6 11 0 0 0
19 6 13 0 0 0
20 6 15 0 0 0
21 6 13 0 0 0
22 6 11 0 0 0
23 6 14 0 0 0
24 6 11 0 0 0




ENER

RIS IR C AR

202276 H2H  (K)
15 _ 1547
& = B Py
= 1t @ § Ly 7K
X it 1t bt iR
- Y| )
H% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 13 0 0 0
3 6 14 0 0 0
4 6 13 0 0 0
5 6 11 0 0 0
6 6 14 0 0 0
7 6 13 0 0 0
8 6 12 0 0 0
9 6 10 0 0 0
10 6 12 0 0 0
11 6 11 0 0 0
12 6 11 0 0 0
13 6 11 0 0 0
14 6 11 0 0 0
15 6 13 0 0 0
16 6 11 1 0 0
17 6 11 1 0 0
18 6 12 0 0 0
19 6 12 0 0 0
20 6 12 0 0 0
21 6 12 0 0 0
22 6 12 0 0 0
23 6 12 0 0 0
24 6 11 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 14 0 0 0
2 6 12 0 0 0
3 6 16 0 0 0
4 6 11 0 0 0
5 6 11 0 0 0
6 6 12 0 0 0
7 6 12 0 0 0
8 6 13 0 0 0
9 6 14 0 0 0
10 6 13 0 0 0
11 6 13 0 0 0
12 6 11 0 0 0
13 6 13 0 0 0
14 6 13 0 0 0
15 6 15 0 0 0
16 6 13 0 0 0
17 6 12 0 0 0
18 6 10 0 0 0
19 6 13 0 0 0
20 6 13 0 0 0
21 6 13 0 0 0
22 6 13 0 0 0
23 6 15 0 0 0
24 6 13 0 0 0




ENER

RIS IR C AR

20226 H3H (%)
15 _ 1547
& = B Py
= 1t @ § Ly 7K
X it 1t bt iR
- Y| )
H% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 12 0 0 0
3 6 12 1 0 0
4 6 12 0 0 0
5 6 13 0 0 0
6 6 12 0 0 0
7 6 11 0 0 0
8 6 12 0 0 0
9 6 13 0 0 0
10 6 11 0 0 0
11 6 11 0 0 0
12 6 11 0 0 0
13 6 12 0 0 0
14 6 12 0 0 0
15 6 12 0 0 0
16 6 10 0 0 0
17 6 13 0 0 0
18 6 10 0 0 0
19 6 11 0 0 0
20 6 12 1 0 0
21 6 13 1 0 0
22 6 13 1 0 0
23 6 13 1 0 0
24 6 14 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 13 0 0 0
3 6 13 0 0 0
4 6 14 0 0 0
5 6 12 0 0 0
6 6 9 0 0 0
7 6 10 0 0 0
8 6 13 0 0 0
9 6 13 0 0 0
10 6 13 0 0 0
11 6 13 0 0 0
12 6 14 0 0 0
13 6 12 0 0 0
14 6 12 0 0 0
15 6 13 0 0 0
16 6 12 0 0 0
17 6 13 0 0 0
18 6 13 0 0 0
19 6 14 0 0 0
20 6 13 0 0 0
21 6 14 0 0 0
22 6 12 0 0 0
23 6 13 0 0 0
24 6 12 0 0 0




ENER

RIS IR C AR

20226848 ()
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 1
2 6 12 0 0 1
3 6 11 0 0 1
4 6 11 0 0 0
5 6 12 0 0 0
6 6 10 0 0 0
7 6 13 0 0 0
8 6 12 0 0 0
9 6 11 0 0 0
10 6 11 0 0 0
11 6 11 0 0 0
12 6 12 0 0 0
13 6 11 0 0 0
14 6 11 0 0 0
15 6 11 0 0 0
16 6 10 1 0 0
17 6 11 0 0 0
18 6 11 1 0 4
19 6 11 0 0 9
20 6 12 0 0 3
21 6 10 0 0 2
22 6 10 0 0 1
23 6 11 0 0 1
24 6 11 0 0 1

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 14 0 0 0
2 6 14 0 0 0
3 6 12 0 0 0
4 6 11 0 0 0
5 6 10 0 0 0
6 6 13 0 0 0
7 6 12 0 0 1
8 6 11 0 0 0
9 6 12 0 0 0
10 6 13 0 0 0
11 6 13 0 0 0
12 6 13 0 0 0
13 6 13 0 0 0
14 6 13 0 0 0
15 6 13 0 0 0
16 6 12 0 0 0
17 6 14 0 0 0
18 6 12 0 0 0
19 6 12 0 0 0
20 6 13 0 0 0
21 6 14 0 0 0
22 6 14 0 0 0
23 6 14 0 0 0
24 6 10 0 0 0




ENER

RIS IR C AR

20226 H5H ()
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 11 0 0 1
2 6 11 0 0 1
3 6 11 0 0 1
4 6 10 0 0 0
5 6 12 0 0 0
6 6 12 0 0 0
7 6 12 0 0 0
8 6 12 0 0 0
9 6 12 0 0 0
10 6 14 0 0 0
11 6 13 0 0 0
12 6 13 0 0 0
13 6 14 0 0 0
14 6 13 0 0 0
15 6 13 0 0 0
16 6 13 0 0 0
17 6 13 0 0 0
18 6 13 0 0 0
19 6 13 0 0 0
20 6 14 0 0 0
21 6 12 0 0 0
22 6 12 0 0 0
23 6 12 0 0 0
24 6 12 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 5 13 0 0 0
2 6 12 0 0 0
3 6 13 0 0 0
4 6 12 0 0 0
5 6 13 0 0 0
6 6 12 0 0 0
7 6 13 0 0 0
8 6 12 0 0 0
9 6 13 0 0 0
10 6 13 0 0 0
11 6 14 0 0 0
12 6 14 0 0 0
13 6 13 0 0 0
14 6 12 0 0 0
15 6 11 0 0 0
16 6 14 0 0 0
17 6 14 0 0 0
18 6 12 0 0 0
19 6 13 0 0 0
20 6 14 0 0 0
21 6 13 0 0 0
22 6 13 0 0 0
23 6 13 0 0 0
24 6 15 0 0 0




ENER

RIS IR C AR

20226868 (AH)
15 _ 1547
& = B Py
= 1t @ § Ly 7K
X it 1t bt iR
- Y| )
H% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 13 1 0 0
3 6 13 0 0 0
4 6 12 0 0 0
5 6 12 0 0 0
6 6 13 0 0 0
7 6 13 1 0 0
8 6 13 0 0 0
9 6 12 0 0 0
10 6 13 0 0 0
11 6 13 0 0 0
12 6 13 0 0 0
13 6 12 0 0 0
14 6 13 0 0 0
15 6 13 0 0 0
16 6 12 0 0 0
17 6 13 0 0 0
18 6 13 0 0 0
19 6 13 0 0 0
20 6 11 1 0 0
21 6 13 0 0 0
22 6 13 0 0 0
23 6 13 0 0 0
24 6 13 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 14 0 0 0
2 6 13 0 0 0
3 6 13 0 0 0
4 6 15 0 0 0
5 6 14 0 0 0
6 6 12 0 0 0
7 5 14 0 0 0
8 5 13 0 0 0
9 5 14 0 0 0
10 6 13 0 0 0
11 6 13 0 0 0
12 6 13 0 0 0
13 6 14 0 0 0
14 6 13 0 0 0
15 6 14 0 0 0
16 6 13 0 0 0
17 6 14 0 0 0
18 6 13 0 0 0
19 6 14 0 0 0
20 6 15 0 0 0
21 6 12 0 0 0
22 6 13 0 0 0
23 6 13 0 0 0
24 6 13 0 0 0




ENER

RIS IR C AR

20226 B7H ()
15 _ 1547
& = B Py
= 1t @ § Ly 7K
X it 1t bt iR
- Y| )
H% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 13 0 0 0
3 6 13 0 0 0
4 6 14 0 0 0
5 6 13 0 0 0
6 6 13 0 0 0
7 6 14 0 0 0
8 6 14 0 0 0
9 6 13 0 0 0
10 6 12 0 0 0
11 6 12 0 0 0
12 6 13 0 0 0
13 6 13 0 0 0
14 6 13 0 0 0
15 6 13 0 0 0
16 6 13 0 0 0
17 6 12 0 0 0
18 6 12 0 0 0
19 6 13 0 0 0
20 6 13 0 0 0
21 6 13 0 0 0
22 6 12 0 0 0
23 6 13 0 0 0
24 6 13 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 15 0 0 0
3 6 14 0 0 0
4 6 13 0 0 0
5 6 12 0 0 0
6 6 14 0 0 0
7 6 13 0 0 0
8 6 14 0 0 0
9 6 13 0 0 0
10 6 15 0 0 0
11 6 13 0 0 0
12 6 15 0 0 0
13 6 14 0 0 0
14 6 15 0 0 0
15 6 12 0 0 0
16 6 12 0 0 0
17 6 16 0 0 0
18 6 12 0 0 0
19 6 9 0 0 0
20 6 13 0 0 0
21 6 13 0 0 0
22 6 13 0 0 0
23 6 13 0 0 0
24 6 11 0 0 0




ENER

RIS IR C AR

2022688  (JK)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
X it 1t bt iR

- Y| )
H% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 13 0 0 0
3 6 13 0 0 0
4 6 13 0 0 0
5 6 13 0 0 0
6 6 13 0 0 0
7 6 13 0 0 0
8 6 12 0 0 0
9 6 9 1 0 0
10 6 11 0 0 0
11 6 12 0 0 0
12 6 11 0 0 0
13 6 9 0 0 0
14 6 11 1 0 0
15 6 13 0 0 0
16 6 12 1 0 0
17 6 12 0 0 0
18 6 12 0 0 0
19 6 12 0 0 0
20 6 12 1 0 3
21 6 12 0 0 1
22 6 14 1 0 1
23 6 11 1 0 0
24 6 12 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 12 0 0 0
3 6 12 0 0 0
4 6 14 0 0 0
5 6 13 0 0 0
6 6 14 0 0 0
7 6 11 0 0 0
8 6 10 0 0 0
9 6 11 0 0 0
10 6 13 0 0 0
11 6 12 0 0 0
12 6 12 0 0 0
13 6 12 0 0 0
14 6 13 0 0 0
15 6 11 0 0 0
16 6 12 0 0 0
17 6 14 0 0 0
18 6 12 0 0 0
19 6 12 0 0 0
20 6 10 0 0 0
21 6 13 0 0 0
22 6 12 0 0 0
23 6 12 0 0 0
24 6 12 0 0 0




ENER

RIS IR C AR

202276 H9H  (K)
15 _ 1547
& = B Py
= 1t @ § Ly 7K
X it 1t bt iR
- Y| )
H% ppm ppm ppm g/mN pg/mN
10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 13 0 0 0
3 6 14 0 0 0
4 6 13 0 0 0
5 6 13 0 0 0
6 6 14 0 0 0
7 6 11 0 0 1
8 6 14 0 0 1
9 6 12 0 0 0
10 6 11 0 0 0
11 6 11 0 0 0
12 6 12 0 0 0
13 6 12 0 0 0
14 6 12 0 0 0
15 6 13 0 0 0
16 6 12 0 0 0
17 6 11 0 0 0
18 6 12 0 0 0
19 6 13 0 0 0
20 6 12 0 0 0
21 6 12 0 0 0
22 6 13 0 0 0
23 6 12 1 0 0
24 6 14 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 13 0 0 0
3 6 11 0 0 0
4 6 13 0 0 0
5 6 13 0 0 0
6 6 12 0 0 0
7 6 13 0 0 0
8 6 15 0 0 0
9 6 10 0 0 0
10 6 10 0 0 0
11 6 13 0 0 0
12 6 12 0 0 0
13 6 13 0 0 0
14 6 13 0 0 0
15 6 14 0 0 0
16 6 13 0 0 0
17 6 13 0 0 0
18 6 14 0 0 0
19 6 13 0 0 0
20 6 12 0 0 0
21 6 11 0 0 0
22 6 14 0 0 0
23 6 14 0 0 0
24 6 11 0 0 0




ENER

RIS IR C AR

202268108 (&)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 14 0 0 0
2 6 13 0 0 0
3 6 12 0 0 0
4 6 11 1 0 0
5 6 13 1 0 0
6 6 12 0 0 0
7 6 11 0 0 0
8 6 12 0 0 0
9 6 12 0 0 0
10 6 11 0 0 0
11 6 12 0 0 0
12 6 12 1 0 0
13 6 12 0 0 0
14 6 12 0 0 0
15 6 11 0 0 0
16 6 13 0 0 0
17 6 13 0 0 0
18 6 13 0 0 0
19 6 12 0 0 0
20 6 14 0 0 0
21 6 11 0 0 0
22 6 12 0 0 0
23 6 13 0 0 0
24 6 12 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 11 0 0 0
2 6 12 0 0 0
3 6 13 0 0 0
4 6 13 0 0 0
5 6 12 0 0 0
6 6 13 0 0 0
7 6 13 0 0 0
8 6 12 0 0 0
9 6 13 0 0 0
10 6 12 0 0 0
11 6 13 0 0 0
12 6 14 0 0 0
13 6 13 0 0 0
14 6 12 0 0 0
15 6 13 0 0 0
16 6 13 0 0 0
17 6 11 0 0 0
18 6 15 0 0 0
19 6 13 0 0 0
20 6 11 0 0 0
21 6 13 0 0 0
22 6 13 0 0 0
23 6 13 0 0 0
24 6 11 0 0 0




ENER

RIS IR C AR

202268118 ()
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 14 0 0 0
2 6 12 1 0 0
3 6 12 0 0 0
4 6 13 0 0 0
5 6 12 0 0 0
6 6 11 0 0 0
7 6 12 0 0 0
8 6 14 0 0 0
9 6 12 0 0 0
10 6 11 0 0 0
11 6 11 1 0 0
12 6 11 0 0 0
13 6 13 0 0 0
14 6 11 0 0 0
15 6 12 0 0 0
16 6 13 0 0 0
17 6 12 0 0 0
18 6 14 1 0 0
19 6 12 0 0 0
20 6 12 0 0 0
21 6 13 0 0 0
22 6 13 0 0 0
23 6 11 0 0 0
24 6 12 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 14 0 0 0
2 6 14 0 0 0
3 6 14 0 0 0
4 6 12 0 0 0
5 6 12 0 0 0
6 6 12 0 0 0
7 6 10 0 0 0
8 6 12 0 0 0
9 6 12 0 0 0
10 6 12 0 0 0
11 6 12 0 0 0
12 6 11 0 0 0
13 6 12 0 0 0
14 6 11 0 0 0
15 6 12 0 0 0
16 6 10 0 0 0
17 6 11 0 0 0
18 6 10 0 0 0
19 6 12 0 0 0
20 6 11 0 0 0
21 6 12 0 0 0
22 6 11 0 0 0
23 6 11 0 0 0
24 6 13 0 0 0




ENER

RIS IR C AR

202268128 (H)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 13 0 0 0
3 6 12 0 0 0
4 6 13 0 0 0
5 6 11 0 0 0
6 6 13 0 0 1
7 6 13 0 0 0
8 6 13 0 0 0
9 6 12 0 0 0
10 6 12 0 0 0
11 6 13 1 0 0
12 6 13 0 0 0
13 6 12 0 0 0
14 6 13 0 0 0
15 6 12 0 0 0
16 6 11 0 0 0
17 6 13 0 0 0
18 6 11 0 0 0
19 6 10 0 0 0
20 6 11 0 0 0
21 6 12 0 0 0
22 6 13 0 0 0
23 6 13 0 0 0
6 0 0 0

N
S~

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 11 0 0 0
2 6 12 0 0 0
3 6 11 0 0 0
4 6 13 0 0 0
5 6 12 0 0 0
6 6 12 0 0 0
7 6 12 0 0 0
8 6 12 0 0 0
9 6 12 0 0 0
10 6 13 0 0 0
11 6 12 0 0 0
12 6 13 0 0 0
13 6 10 0 0 0
14 6 12 0 0 0
15 6 9 0 0 0
16 6 10 0 0 0
17 6 12 0 0 0
18 6 12 0 0 0
19 6 10 0 0 0
20 6 10 0 0 0
21 5 10 0 0 0
22 6 12 0 0 0
23 6 11 0 0 0
24 6 10 0 0 0




ENER

RIS IR C AR

202268 13H (A)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 12 0 0 0
3 6 13 0 0 0
4 6 11 0 0 0
5 6 12 0 0 0
6 6 12 0 0 1
7 6 12 0 0 0
8 6 12 0 0 0
9 6 13 0 0 0
10 6 12 0 0 0
11 6 12 0 0 0
12 6 12 0 0 0
13 6 12 0 0 0
14 6 12 0 0 0
15 6 12 0 0 0
16 6 14 0 0 0
17 6 14 0 0 0
18 6 13 0 0 0
19 5 12 0 0 0
20 6 13 0 0 0
21 5 13 0 0 0
22 6 13 0 0 0
23 6 13 0 0 0
24 6 13 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 13 0 0 0
3 6 12 0 0 0
4 6 11 0 0 0
5 6 11 0 0 0
6 5 12 0 0 0
7 6 13 0 0 0
8 6 12 0 0 0
9 6 12 0 0 0
10 6 12 0 0 0
11 5 13 0 0 0
12 6 13 0 0 0
13 6 12 0 0 0
14 6 12 0 0 0
15 6 13 0 0 0
16 6 13 0 0 0
17 6 11 0 0 0
18 6 11 0 0 0
19 6 12 0 0 0
20 6 11 0 0 0
21 6 12 0 0 0
22 6 12 0 0 0
23 6 13 0 0 0
24 6 12 0 0 0




ENER

RIS IR C AR

202268148 ()
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 12 0 0 0
3 6 12 0 0 0
4 6 12 0 0 0
5 6 14 1 0 0
6 6 13 0 0 0
7 6 13 0 0 0
8 6 12 0 0 0
9 6 13 0 0 0
10 6 14 0 0 0
11 6 12 0 0 0
12 6 13 0 0 0
13 6 13 0 0 0
14 6 12 0 0 0
15 6 13 0 0 0
16 6 12 0 0 0
17 6 11 0 0 0
18 6 13 0 0 0
19 6 14 0 0 0
20 6 12 0 0 0
21 6 13 0 0 0
22 6 11 0 0 0
23 6 11 0 0 0
24 5 13 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 11 0 0 0
3 6 12 0 0 0
4 6 11 0 0 0
5 6 9 0 0 0
6 6 12 0 0 0
7 6 11 0 0 0
8 6 12 0 0 0
9 6 13 0 0 0
10 6 11 0 0 0
11 6 11 0 0 0
12 6 12 0 0 0
13 6 13 0 0 0
14 6 11 0 0 0
15 6 11 0 0 0
16 6 12 0 0 0
17 6 12 0 0 0
18 6 12 0 0 0
19 6 13 0 0 0
20 6 13 0 0 0
21 6 13 0 0 0
22 6 12 0 0 0
23 5 12 0 0 0
24 5 14 0 0 0




ENER

RIS IR C AR

202268 15H (7K)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 4 13 0 0 0
2 6 13 0 0 0
3 5 13 0 0 0
4 6 13 0 0 0
5 6 13 0 0 0
6 6 13 0 0 0
7 6 13 1 0 0
8 6 13 0 0 0
9 6 14 0 0 0
10 6 11 0 0 0
11 6 13 0 0 0
12 6 13 0 0 0
13 6 12 0 0 0
14 6 12 0 0 0
15 6 12 0 0 0
16 6 12 0 0 0
17 6 12 1 0 0
18 6 13 0 0 0
19 6 11 0 0 0
20 5 13 0 0 0
21 5 10 0 0 0
22 5 13 0 0 0
23 5 12 0 0 0
24 4 13 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 5 13 0 0 0
2 5 13 0 0 0
3 5 15 0 0 0
4 6 15 0 0 0
5 6 12 0 0 0
6 6 11 0 0 0
7 6 13 0 0 0
8 6 13 0 0 0
9 6 13 0 0 0
10 6 12 0 0 0
11 6 10 0 0 0
12 6 12 0 0 0
13 6 12 0 0 0
14 6 11 0 0 0
15 6 13 0 0 0
16 6 12 0 0 0
17 6 13 0 0 0
18 6 13 0 0 0
19 6 13 0 0 0
20 5 11 0 0 0
21 5 13 0 0 0
22 5 12 0 0 0
23 5 12 0 0 0
24 5 12 0 0 0




ENER

RIS IR C AR

202268 16H (XR)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 4 13 0 0 0
2 4 13 0 0 0
3 4 13 0 0 0
4 4 13 0 0 0
5 4 11 0 0 0
6 4 12 0 0 0
7 5 14 0 0 0
8 6 13 1 0 0
9 6 14 0 0 0
10 6 14 0 0 0
11 6 14 0 0 0
12 6 12 0 0 0
13 6 12 0 0 0
14 6 14 0 0 0
15 6 13 0 0 0
16 6 12 0 0 0
17 6 13 0 0 0
18 6 12 0 0 0
19 6 14 0 0 0
20 6 12 0 0 0
21 6 13 0 0 0
22 6 13 0 0 0
23 6 13 0 0 0
24 4 9 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 5 13 0 0 0
2 4 13 0 0 0
3 5 13 0 0 0
4 5 11 0 0 0
5 5 13 0 0 0
6 4 13 0 0 0
7 5 13 0 0 0
8 5 13 0 0 0
9 5 11 0 0 0
10 5 14 0 0 0
11 5 13 0 0 0
12 6 13 0 0 0
13 6 12 0 0 0
14 6 12 0 0 0
15 6 12 0 0 0
16 6 12 0 0 0
17 6 14 0 0 0
18 6 13 0 0 0
19 6 10 0 0 0
20 6 12 0 0 0
21 6 12 0 0 0
22 6 13 0 0 0
23 6 12 0 0 0
24 6 12 0 0 0




ENER

RIS IR C AR

202268 17H (&)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 11 0 0 0
2 4 13 0 0 0
3 4 13 0 0 0
4 5 12 0 0 0
5 4 11 0 0 0
6 4 12 0 0 0
7 4 12 0 0 0
8 4 12 0 0 0
9 4 13 0 0 0
10 6 12 0 0 0
11 6 13 0 0 0
12 6 13 0 0 0
13 6 13 0 0 0
14 6 12 0 0 0
15 6 13 0 0 0
16 6 13 0 0 0
17 6 12 0 0 0
18 6 12 0 0 0
19 6 12 0 0 0
20 6 12 0 0 0
21 6 12 1 0 0
22 6 12 0 0 0
23 6 12 0 0 0
24 6 13 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 13 0 0 0
3 6 9 0 0 0
4 6 12 0 0 0
5 6 12 0 0 0
6 6 11 0 0 0
7 6 11 0 0 0
8 5 12 0 0 0
9 6 13 0 0 0
10 6 14 0 0 0
11 6 10 0 0 0
12 6 12 0 0 0
13 6 11 0 0 0
14 6 12 0 0 0
15 6 12 0 0 0
16 6 10 0 0 0
17 6 11 0 0 0
18 6 11 0 0 0
19 6 12 0 0 0
20 6 12 0 0 0
21 6 13 0 0 0
22 6 12 0 0 0
23 6 11 0 0 0
24 6 11 0 0 0




ENER

RIS IR C AR

202268 18H ()
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 14 0 0 0
2 6 12 1 0 0
3 6 13 0 0 0
4 6 13 1 0 0
5 6 13 0 0 0
6 6 10 0 0 0
7 6 13 0 0 0
8 6 13 0 0 0
9 6 12 0 0 0
10 6 13 0 0 0
11 6 13 0 0 0
12 6 11 0 0 0
13 6 12 1 0 0
14 6 13 0 0 0
15 6 12 0 0 0
16 6 13 0 0 0
17 6 12 0 0 0
18 6 13 0 0 0
19 6 13 0 0 0
20 6 14 0 0 0
21 6 11 0 0 0
22 6 12 0 0 0
23 6 13 0 0 0
24 6 13 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 16 0 0 0
3 6 11 0 0 0
4 6 12 0 0 0
5 6 11 0 0 0
6 6 12 0 0 0
7 6 13 0 0 0
8 6 12 0 0 0
9 6 11 0 0 0
10 6 13 0 0 0
11 6 13 0 0 0
12 6 13 0 0 0
13 6 12 0 0 0
14 6 13 0 0 0
15 6 12 0 0 0
16 6 12 0 0 0
17 6 13 0 0 0
18 6 12 0 0 0
19 6 11 0 0 0
20 6 13 0 0 0
21 6 14 0 0 0
22 6 13 0 0 0
23 6 13 0 0 0
24 6 12 0 0 0




ENER

RIS IR C AR

202268198 (H)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 14 0 0 1
3 6 13 0 0 0
4 6 12 0 0 0
5 6 14 0 0 0
6 6 11 0 0 0
7 6 14 1 0 0
8 6 12 0 0 0
9 6 14 0 0 0
10 6 11 0 0 0
11 6 14 0 0 0
12 6 12 0 0 0
13 6 13 0 0 0
14 6 12 0 0 0
15 6 12 0 0 0
16 6 12 0 0 0
17 6 12 0 0 0
18 6 13 0 0 0
19 6 13 0 0 0
20 6 13 0 0 0
21 6 13 0 0 0
22 6 13 0 0 0
23 6 13 1 0 0
6 0 0 0

N
S~

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 12 0 0 0
3 6 13 0 0 0
4 6 14 0 0 0
5 6 11 0 0 0
6 6 10 0 0 0
7 6 12 0 0 0
8 6 13 0 0 0
9 6 11 0 0 0
10 6 10 0 0 0
11 6 13 0 0 0
12 6 11 0 0 0
13 6 11 0 0 0
14 6 13 0 0 0
15 6 11 0 0 0
16 6 12 0 0 0
17 6 12 0 0 0
18 6 14 0 0 0
19 6 13 0 0 1
20 6 11 0 0 0
21 6 13 0 0 0
22 6 12 0 0 0
23 6 12 0 0 0
24 6 14 0 0 0




ENER

RIS IR C AR

202268208 (A)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
X it 1t bt iR

- Y| )
H% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 12 0 0 0
3 6 13 0 0 0
4 6 12 0 0 0
5 6 13 0 0 0
6 6 14 0 0 0
7 6 13 0 0 0
8 6 13 0 0 0
9 6 12 0 0 0
10 6 13 0 0 0
11 6 14 1 0 0
12 6 13 0 0 0
13 6 14 1 0 0
14 6 13 0 0 0
15 6 14 0 0 0
16 6 13 0 0 0
17 6 11 0 0 0
18 6 13 0 0 0
19 6 14 0 0 0
20 6 12 1 0 0
21 6 11 0 0 0
22 6 12 0 0 0
23 6 11 0 0 0
24 6 12 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 12 0 0 0
3 6 14 0 0 0
4 6 14 0 0 0
5 6 13 0 0 0
6 6 15 0 0 0
7 6 11 0 0 0
8 6 11 0 0 0
9 6 12 0 0 0
10 6 12 0 0 0
11 6 14 0 0 0
12 6 13 0 0 0
13 6 11 0 0 1
14 6 12 0 0 0
15 6 13 0 0 0
16 6 12 0 0 0
17 6 12 0 0 0
18 6 13 0 0 0
19 6 12 0 0 0
20 6 12 0 0 0
21 6 13 0 0 0
22 6 11 0 0 0
23 6 13 0 0 0
24 6 13 0 0 0




ENER

RIS IR C AR

202268218 ()
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 11 0 0 0
2 6 11 0 0 0
3 6 13 1 0 0
4 6 12 0 0 0
5 6 12 0 0 0
6 6 12 0 0 0
7 6 13 0 0 0
8 6 10 0 0 0
9 6 13 0 0 0
10 6 13 1 0 0
11 6 13 0 0 0
12 6 12 0 0 0
13 6 13 0 0 0
14 6 12 0 0 0
15 6 14 0 0 0
16 6 11 0 0 0
17 6 14 0 0 0
18 6 12 0 0 0
19 6 11 0 0 0
20 6 13 0 0 0
21 6 13 0 0 0
22 6 12 0 0 0
23 6 13 0 0 0
24 6 12 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 14 0 0 0
2 6 13 0 0 0
3 6 11 0 0 0
4 6 13 0 0 0
5 6 13 0 0 0
6 6 14 0 0 0
7 6 10 0 0 0
8 6 11 0 0 0
9 6 15 0 0 0
10 6 15 0 0 0
11 6 11 0 0 0
12 6 12 0 0 0
13 6 14 0 0 0
14 6 13 0 0 0
15 6 13 0 0 0
16 6 12 0 0 0
17 6 13 0 0 0
18 6 11 0 0 0
19 6 11 0 0 0
20 6 13 0 0 0
21 6 12 0 0 0
22 6 12 0 0 0
23 6 13 0 0 0
24 6 13 0 0 0




ENER

RIS IR C AR

202268228 (7K)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 13 0 0 0
3 6 14 0 0 0
4 6 12 0 0 0
5 6 12 0 0 0
6 6 12 0 0 0
7 6 13 0 0 0
8 6 14 0 0 0
9 6 11 0 0 0
10 6 12 0 0 0
11 6 11 0 0 0
12 6 14 0 0 0
13 6 12 0 0 0
14 6 12 0 0 0
15 6 13 0 0 0
16 6 11 0 0 0
17 6 12 1 0 0
18 6 14 0 0 0
19 6 12 0 0 1
20 6 14 0 0 0
21 6 13 0 0 0
22 6 11 0 0 0
23 6 13 0 0 0
24 6 14 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 12 0 0 0
3 6 12 0 0 0
4 6 12 0 0 0
5 6 11 0 0 0
6 6 12 0 0 0
7 6 12 0 0 0
8 6 12 0 0 0
9 6 12 0 0 0
10 6 12 0 0 0
11 6 12 0 0 0
12 6 11 0 0 0
13 6 12 0 0 0
14 6 11 0 0 0
15 6 10 0 0 0
16 6 10 0 0 0
17 6 14 0 0 0
18 6 14 0 0 0
19 6 13 0 0 0
20 6 13 0 0 0
21 6 12 0 0 0
22 6 12 0 0 0
23 6 13 0 0 0
24 6 12 0 0 0




ENER

RIS IR C AR

202268 23H (XR)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 12 0 0 0
3 6 11 0 0 0
4 6 13 0 0 0
5 6 13 0 0 0
6 6 11 0 0 0
7 6 14 0 0 0
8 6 13 0 0 0
9 6 13 1 0 0
10 6 12 0 0 0
11 6 14 0 0 0
12 6 11 1 0 0
13 6 13 0 0 0
14 6 11 1 0 0
15 6 12 0 0 0
16 6 12 1 0 0
17 6 13 1 0 0
18 6 13 1 0 0
19 6 15 0 0 0
20 6 12 1 0 0
21 6 11 0 0 0
22 6 11 0 0 0
23 6 12 0 0 0
24 6 11 1 0 0

BERHIE
ERHIE

5 25 4R
i b o &
B 1t ; ; L K
7K 1t 1t C R
ES A
) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 11 0 0 0
2 6 13 0 0 0
3 6 13 0 0 0
4 6 12 0 0 1
5 6 13 0 0 0
6 6 15 1 0 0
7 6 11 0 0 1
8 6 12 0 0 0
9 6 12 0 0 0
10 6 13 0 0 0
11 6 12 0 0 0
12 6 12 0 0 0
13 6 12 0 0 0
14 6 12 0 0 0
15 6 12 0 0 0
16 6 11 0 0 0
17 6 11 0 0 0
18 6 13 0 0 0
19 6 13 0 0 0
20 6 13 0 0 0
21 6 12 0 0 0
22 6 13 0 0 0
23 6 13 0 0 0
24 6 13 0 0 0




ENER

RIS IR C AR

202268248 (&)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 13 0 0 0
3 6 12 0 0 0
4 6 13 0 0 0
5 6 11 0 0 0
6 6 10 0 0 0
7 6 13 0 0 0
8 6 12 0 0 0
9 6 13 0 0 0
10 6 14 0 0 0
11 6 12 1 0 0
12 6 11 0 0 0
13 6 11 0 0 0
14 6 12 0 0 0
15 6 14 1 0 0
16 6 14 1 0 0
17 6 13 1 0 0
18 6 12 1 0 0
19 6 13 1 0 0
20 6 13 1 0 0
21 6 14 1 0 0
22 6 10 1 0 0
23 6 10 1 0 0
24 6 11 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 10 0 0 0
3 6 14 0 0 0
4 6 14 0 0 0
5 6 13 0 0 0
6 6 12 0 0 0
7 6 11 0 0 0
8 6 13 0 0 0
9 6 12 0 0 0
10 6 12 0 0 0
11 6 11 0 0 0
12 6 12 0 0 0
13 6 10 0 0 0
14 6 12 0 0 0
15 6 13 0 0 0
16 6 10 0 0 0
17 6 13 0 0 0
18 6 10 0 0 1
19 6 13 0 0 0
20 6 12 0 0 0
21 6 11 0 0 0
22 6 13 0 0 0
23 6 11 0 0 0
24 6 11 0 0 0




ENER

RIS IR C AR

2022682580 (X)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
X it 1t bt iR

- Y| )
H% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 1 0 0
2 6 11 1 0 0
3 6 13 0 0 0
4 6 11 0 0 0
5 6 12 1 0 0
6 6 12 0 0 0
7 6 13 1 0 0
8 6 13 1 0 0
9 6 11 1 0 0
10 6 13 0 0 0
11 6 13 0 0 0
12 6 13 1 0 0
13 6 13 1 0 0
14 6 12 1 0 0
15 6 12 1 0 0
16 6 13 0 0 0
17 6 12 1 0 0
18 6 14 1 0 0
19 6 11 0 0 0
20 6 12 1 0 0
21 6 11 1 0 0
22 6 13 0 0 0
23 6 12 0 0 0
24 6 12 1 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 11 0 0 0
3 6 12 0 0 0
4 6 12 0 0 0
5 6 11 0 0 0
6 6 12 0 0 0
7 6 11 0 0 0
8 6 12 0 0 0
9 6 13 0 0 0
10 6 11 0 0 0
11 6 11 0 0 0
12 6 12 0 0 0
13 6 14 0 0 0
14 6 11 0 0 0
15 6 11 0 0 0
16 6 12 0 0 0
17 6 13 0 0 0
18 6 13 0 0 0
19 6 11 0 0 0
20 6 11 0 0 0
21 6 12 0 0 0
22 6 12 0 0 0
23 6 11 0 0 0
24 6 12 2 0 1




ENER

RIS IR C AR

202268 26H (H)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 11 0 0 0
2 6 12 0 0 0
3 6 12 0 0 0
4 6 12 0 0 0
5 6 12 0 0 0
6 6 11 0 0 0
7 6 14 0 0 0
8 6 12 0 0 0
9 6 12 0 0 0
10 6 12 0 0 0
11 6 11 0 0 0
12 6 13 0 0 0
13 6 12 1 0 0
14 6 12 0 0 0
15 6 12 1 0 0
16 6 13 1 0 0
17 6 12 1 0 0
18 6 14 1 0 0
19 6 12 1 0 0
20 6 14 1 0 0
21 6 11 1 0 0
22 6 13 1 0 0
23 6 13 1 0 0
24 6 11 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 14 0 0 0
3 6 14 0 0 0
4 6 12 0 0 0
5 6 12 0 0 0
6 6 14 1 0 0
7 6 11 0 0 0
8 6 12 0 0 0
9 6 13 0 0 0
10 6 13 0 0 0
11 6 12 0 0 0
12 6 11 0 0 0
13 6 12 0 0 0
14 6 11 0 0 0
15 6 12 0 0 0
16 6 11 0 0 0
17 6 12 0 0 0
18 6 13 0 0 0
19 6 14 0 0 0
20 6 14 0 0 0
21 6 11 0 0 0
22 6 14 0 0 0
23 6 15 0 0 0
24 6 11 0 0 0




ENER

RIS IR C AR

202268 27H (A)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 14 0 0 0
2 6 10 0 0 0
3 6 15 0 0 0
4 6 12 0 0 0
5 6 9 0 0 0
6 6 12 0 0 0
7 6 14 0 0 0
8 6 11 0 0 0
9 6 13 0 0 0
10 6 12 1 0 0
11 6 11 0 0 0
12 6 12 0 0 0
13 6 12 0 0 0
14 6 11 0 0 0
15 6 13 1 0 0
16 6 13 1 0 0
17 6 10 0 0 0
18 6 15 0 0 0
19 6 13 0 0 0
20 6 12 0 0 0
21 6 11 0 0 0
22 6 11 0 0 0
23 6 14 0 0 0
24 6 13 0 0 0

BERHIE
ERHIE

5 25 4R
i b o &
B 1t ; ; L K
7K 1t 1t C R
ES A
) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50

7l 430 250 #2700 0.040 50
1 5 13 0 0 0
2 6 12 0 0 0
3 6 13 0 0 0
4 6 12 0 0 0
5 6 13 0 0 0
6 6 14 0 0 0
7 6 14 0 0 0
8 6 14 0 0 0
9 6 12 0 0 0
10 6 12 0 0 22
11 6 12 0 0 18
12 6 13 0 0 10
13 6 13 0 0 9
14 6 13 0 0 7
15 6 12 0 0 7
16 6 12 0 0 4
17 6 12 0 0 4
18 6 12 0 0 3
19 6 12 0 0 3
20 6 14 0 0 2
21 6 12 0 0 2
22 6 12 0 0 1
23 6 12 0 0 2
24 6 11 0 0 1




ENER

RIS IR C AR

202268 28H ()
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 11 0 0 0
2 6 13 0 0 0
3 6 13 0 0 0
4 6 12 0 0 0
5 6 13 0 0 0
6 6 12 0 0 0
7 6 12 0 0 0
8 6 13 0 0 0
9 6 14 0 0 0
10 6 12 0 0 0
11 6 13 0 0 0
12 6 13 0 0 0
13 6 13 0 0 0
14 6 13 1 0 0
15 6 14 0 0 0
16 6 12 0 0 0
17 6 13 0 0 0
18 6 13 0 0 0
19 6 14 0 0 0
20 6 11 1 0 0
21 6 13 0 0 0
22 6 12 0 0 0
23 6 11 0 0 0
24 6 12 0 0 0

BERHIE
ERHIE

5 25 4R
i b o &
B 1t ; ; L K
7K 1t 1t C R
ES A
) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50

7l 430 250 #2700 0.040 50
1 6 14 0 0 1
2 6 12 0 0 1
3 6 10 0 0 1
4 6 13 0 0 1
5 6 13 0 0 1
6 6 13 0 0 1
7 6 13 0 0 1
8 6 12 0 0 1
9 6 12 0 0 1
10 6 12 0 0 1
11 6 13 0 0 1
12 6 12 0 0 1
13 6 12 0 0 1
14 6 13 0 0 1
15 5 12 0 0 1
16 6 13 0 0 1
17 5 13 0 0 1
18 6 13 0 0 1
19 6 12 0 0 1
20 5 12 0 0 1
21 5 13 0 0 0
22 4 12 0 0 1
23 4 13 0 0 0
24 5 13 0 0 1




ENER

RIS IR C AR

202268298  (JK)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
X it 1t bt iR

- Y| )
H% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 13 0 0 0
2 6 11 0 0 0
3 6 12 0 0 0
4 6 11 0 0 0
5 6 12 0 0 0
6 6 11 0 0 0
7 6 12 0 0 0
8 5 12 0 0 0
9 6 12 0 0 0
10 6 14 0 0 0
11 6 10 0 0 0
12 6 13 1 0 0
13 6 11 0 0 0
14 6 13 0 0 0
15 6 13 0 0 0
16 6 15 0 0 0
17 6 12 0 0 0
18 6 12 0 0 0
19 6 12 0 0 0
20 6 13 0 0 0
21 6 12 0 0 0
22 6 13 1 0 0
23 6 13 0 0 0
24 6 12 0 0 0

BERHIE
ERHIE

5 25 4R
i b o &
B 1t ; ; L K
7K 1t 1t C R
ES A
) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 11 0 0 0
2 6 12 0 0 0
3 5 12 0 0 0
4 5 14 0 0 0
5 4 13 0 0 0
6 5 12 0 0 0
7 5 13 0 0 0
8 4 12 0 0 0
9 5 12 0 0 0
10 5 13 0 0 1
11 4 14 0 0 1
12 5 13 0 0 1
13 6 10 0 0 0
14 6 11 0 0 0
15 4 13 0 0 0
16 4 12 0 0 0
17 5 12 0 0 0
18 5 12 0 0 0
19 4 12 0 0 0
20 5 12 0 0 0
21 6 11 0 0 0
22 6 11 0 0 0
23 5 13 0 0 0
24 5 11 0 0 0




ENER

RIS IR C AR

202268 30H (XR)
15 _ 1547

& = B Py
= 1t @ § Ly 7K
7K 1t 1t C iR

E A

Y| )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 6 12 0 0 0
2 6 12 0 0 0
3 6 13 0 0 0
4 6 13 0 0 0
5 6 14 0 0 0
6 6 12 0 0 0
7 6 13 0 0 0
8 6 13 0 0 0
9 6 13 1 0 0
10 6 13 0 0 0
11 6 13 1 0 0
12 6 12 0 0 1
13 6 13 0 0 1
14 6 12 0 0 1
15 6 13 0 0 0
16 6 13 0 0 0
17 6 13 0 0 0
18 6 14 1 0 0
19 6 11 0 0 0
20 6 14 1 0 0
21 6 13 0 0 0
22 6 13 0 0 0
23 6 13 0 0 0
24 6 13 0 0 0

BERHIE
ERHIE

5 25 4R

i b o &
B 1t ; ; L K
7K 1t 1t C R

ES A

) )
E% ppm ppm ppm g/mN pg/mN

10 20 10 0.005 50
7l 430 250 #2700 0.040 50
1 5 12 0 0 0
2 4 12 0 0 0
3 5 13 0 0 0
4 5 12 0 0 0
5 6 12 0 0 0
6 6 10 0 0 0
7 4 8 0 0 0
8 5 11 0 0 0
9 5 11 0 0 0
10 5 11 0 0 0
11 6 12 0 0 0
12 6 12 0 0 0
13 6 11 0 0 0
14 5 12 0 0 0
15 5 11 0 0 0
16 6 12 0 0 0
17 5 11 0 0 0
18 4 10 0 0 0
19 4 10 0 0 0
20 4 12 0 0 0
21 4 11 0 0 0
22 4 15 0 0 0
23 6 14 0 0 0
24 5 16 0 0 0




